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QUESTION 1

You are creating an application for a help desk center. Calls must be handled in the same order in which they were
received. Which data structure should you use?

A. Binary tree

B. Stack

C. Hashtable

D. Queue

Correct Answer: D

A queue keeps the order of the items.

QUESTION 2

You execute the following code.

For i = 0 to 10 Step 2
Console.Nriteline ("Hellao™)
Next

How many times will the word Hello be printed?
A5

B.6

C.10

D. 12

Correct Answer: B

QUESTION 3

Two classes named Circle and Square inherit from the Shape class. Circle and Square both inherit Area from the Shape
class, but each computes Area differently.

Which term is used to describe this object-oriented concept?
A. encapsulation
B. superclassing

C. polymorphism
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D. overloading
Correct Answer: C
You can use polymorphism to in two basic steps:

Create a class hierarchy in which each specific shape class derives from a common base class. Use a virtual method to
invoke the appropriate method on any derived class through a single call to the base class method.

QUESTION 4

You are designing a class for an application. You need to restrict the availability of the member variable accessCount to
the base class and to any classes that are derived from the base class. Which access modifier should you use?

A. Protected
B. Private
C. Public
D. Friend

Correct Answer: B

QUESTION 5

Where must Internet Information Services (11S) be installed in order to run a deployed ASP. NET application?
A. on the computer that you plan to deploy from

B. on the computer that hosts the application

C. on the Application Layer Gateway Service

D. on the client computers

Correct Answer: B

IIS is run on the web server. The web server is hosting the application.
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